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dy/dx :x+y ,y(0): 1 by Taylors series method' Hence find

lue of y at x = 0.1 and x:0.2 valuating)4,

ve
va

the iollowing differential equation by using modified

ulers method ff=*+ l'6i'y(0) = 1at0 <x (0'4withh=

ppry nurUe - futfa d of fourth order to approximate tl
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Note: Solve Any 5 Questions

a.
N. Questions Marks

Level of
Bloom's

Taxonomv
COs

I
Drina z{e- 

iry-1l 
(ii) showthat i'"-" 

sintdt=*
14+41

Applying col

)

3s

(i) Find inverse Laplace transform og "t+ 
Z5 - 3'

(ii) Find inverse Laplace transform of cot-t(s + 1)

[4+4] Applying
col

J

Solve the following initial value problem

ff. r= sin3r, y(o)= y'(o)= o. t8I Applying co1

4

(i) The probability density function of a continuous random variable

lL. t(: s lo
flx)= I xr'

[o' othemise Find value of k.
(ii) Find the standard deviation for the following discrete probability
distribution:

x:812162024
p(x): tl9 l/6 3/8 ll4 tlt2

Do all the calculation for 2 decimal places.

t8l

Applying

c03

5

The frequency ofthe accidents per shift in a factory is as shown

below:
Accidentspershift: 0 | 2 3 4

Frequency : 180 92 24 3 I
Calculate mean number of accidents and fit Poisson's distribution.'
Do Calculations for 2 olaces of decimals.

t8l Applying
co3

6

Articles are classified in three categories, 60Yo are less than 50,35yo
are in the range 50-60, and only SYo are greater than 60. If this
classification follows normal distribution, then find mean and

standard deviation.
t8l

Applying co3
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TimeAllowed:2 hrs

:Note: -Atl questions are compulsory.

Q.N. Questions

A. Explain the concept of object oriented progtamming language'

F.numerate the overloading. Explain operator overloading'

D. Discuss the role exceptional handling in C+r'
,

E. pxplain basic structure of C++ With example'

tI-,{ oU ; A!! qu e-sliqtl g;re c ogg1l ls o,ry,

1

Q.N. i Questions

i e. Explain the concept of object oriented programming language'
I

Describe inheritance with its types.

,,'''''']

,Bnumerate the overloading. Explain operator overloading'

I

D. Discuss the role exceptional handling in Cr-r'

E. tsxplain basic structure of C+r. With example'

C.

MaxMarks:40

Bloom'st COs

axonomy 
:

Understanding , CO4

t8l Analyzing c04

Applying . CO5

:

Understanding 
i Co5

Understanding. CO4

Analyzing CO4

Analyzing

Applying

Understanding 
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Note: -All questions are compulsory'

Lenelsof

ji
,l

i- " --i
ioi :-B.DescribeModulesAndModularizationCriteria.]

 \" Explain The Programming Structure of LISP' j t8l understanding ' co3

Analyzing CO3 
1n ,. n - --- ---^-2^- L"J ' t"''J-"-Q

U 
! o' 

Differentiate Between Functional and Imperative Programming LUJ Analyang \'\-'J 
,

:Language.

tr. Describe the various characteristics of Programming Language t8] Understanding
\-.
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Q.N. i auestions

A. F.xplain Pseudo Code and Flow Chart With Example'

fimeAllowed:2 hrs

Note: -All questions are compulsory'

t:

i Q.N. 
i

i.
i: A. ;Explain Pseudo Code and

ll

1- --- '^ -"''1 '

B' Describe Modules And Modularization Criteria'

:
Ii

i C' pxplain The Programming Structure Of LISP'

'l

i D' 
bifferentiate Between Functional and Imperative Programming

Language.
ii

E. Describe the various Characteristics of Programming Language
ii
l:

Questions

1

Flow Chart With ExamPle.

Mark Bloom'stax , COs

s onomy

t8l Understanding COI

. MaxMarks:40

Levelsof

Mark Bloom'stax COs

s onomy

t8l Understanding COI

tSl AnalYzing CO1

t8l dJnderstanding CO3

:

b

t8l

t8l

Analyzing co3

Understanding
coz
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Q.N. Questions Marks
Levels of
Bloom's Cos

Ql

Develop a Binary Tree from the given Inorder and Postorder

Sequence.

Inorderi D, B, F, E, A, G, C, L, J, K, H

Postorder: D, E, F, B, G, L, J, K, H, C, A

t8l Applying co3

Q2

Design prim's algorithm to find the minimum spanning tree of a
graph. Explain it with suitable example. t8l Creating co4

Q3

Explain BFS and DFS(graph traversal algorithms) with suitable

Example.
t8l Applying co4

Q4

Create an AVL tree from the following data:

25, 20, 36, 10, 22, 30, 40, 12, 28, 38, 48 t8l Creating co5

Qs

Create a B* tree of order=S from the following data:

48, 53, 60, 69, 57,74, 1 10, 1 19,78,83, 120, 129, 154, 190, 88,

108, 195

t8l Creating cos

rl

:i
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Note: - Attempt I questionfrom each part. All questions carry equal marks.

Levels of

Questions Bloom's

Explain Mealy machine with Example t8l Remember

Explain Moore Machine with Example Remember

"The day you take complete responsibility for yourself, the day

you stop making any excuse, that's the day you start to the top."

t8l

Implement Full Adder Circuit using two 4:1 Multiplexer

Design 4 bit Priority Encoder

Remember

Implement logic diagram for T flip flop to D flip flop Converter'

Explain the working of 4 bit Johnson counter using Timing Diagram

Design MOD-6 Synchronous Counter using T flip flop

Design two input TTL NAIID gate.

t8l I Apply

tsl I Apply

With neat diagram explain operation of 2 input CMOS NOR gate'

a

Implement 3 bit binary to Gray code converter using PLA.
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Q.N. Questions Marks
Levels of
Bloom's

taxonomY
COs

l.
a)

b)

Explain the Virtual Machine Operating System'

Briefly explain the indexed allocation method.
t8l Understanding co5

2.
What ia paging? How it can be implemented? Discuss its

advantages t8l Understanding c04

3.

A dirk dri,e h"s -00 cylinders, numbered 0 to 199. The drive

is currently serving a request at cylinder 53. The queue of

pending requests, in FIFO order, is 98, 183, 37,122, 14,124,

65, 67. Starting from the current head position, what is the

total distance (in cylinders) that the disk arm moves to satisff

all the pending requests for each of the following disk-

scheduling algorithms? i) FCFS ii) SSTF iii) SCAN iv)

LOOK v) C-SCAN vi) C-LOOK.

t8l Applying

I

I

I

I

Icos I

I

I

I

I
I

I
I

I

I

-*-"j

4.

Gire, fte. -t-ory partitions of 100 K, 500 K,200 K, 300 K,

and 600 K (in order), how would each of the First-fit, Best-fit,

and Worst-fit algorithms place processes of 2 12 K, 417 K, ll2
K, and 426K (in order)?

t8l Applying c04

5.

Consider the following page reference string
a

| ,2,3,4,5,2,6,7 ,3,2,4,r,7 ,1,4,3,2,3 ,4,7 ,l . cOmpare the nUmber

of page faults with frame sizes 3,4 and 5 with LRU Page

replacement al gorithm.

t8l Applying c04
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carries I marks,

Questions

t8l Analyzing

u,

Levels of
Bloom's

Understanding
Explain Bankers algorithm and Saffy Algorithm with Pseudo Code'

If ffiis 7,0,t,i,0,3,0A,2,3,0,3 and there ar-e three

frames available in the memofu , then compare the performance of given

algorithm in terms of Page fault :

1) FCFS

2l Optimal Page rePlacement

Understanding
Illustrate the concept of address tanslation from logical to physical address.

Srppos. rh"t the heffi;ith 200;a.k;0 |-a i99; ia

currintly serving a request at 150 *a nut just finished request at 155. The

qr.r" Jf r.q,rrit is kipt in FIFO order 86,147,9L,177,94'150'102'156'145'

foat is the total number of head movement needed to speciff these request

for the following disk scheduling algorithms?

1) SSTF Scheduling

Describe virtual memory and explain the concept of demand paging?

DescribeVariousfileAccessingMethodswithitsadvantagsand
disadvantages.


